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Static vs Kinetic Friction
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Notice the difference between the scale reading as we pull on the mass
When is the reading largest? @ S-]ﬂ Y"]"O‘F mﬂ'h onNn CINSTA‘\”’)
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What happengonce the block begins to move-
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OF FRICTION
The coefficient of friction is the ratio between the Force of Friction and the Normal
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The symbol 1L can be thought of as a numerical description of the nature of the?}A =M
surfaces. The equation 1 = 0 corresponds to a frictionless surface: small values G{\Q‘l‘\@ﬂ
correspond to two surfaces that are slippery, with the friction becoming larger & - ‘ess

with larger values of p. "\1 n
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Measures of friction are based on the type of
materials that are in contact. Concrete on congfete
“Fas a very high coefficient of friction. That
coefficient is a measure of how easily o€ object
moves in relationship to another. Whgh you have a
high coefficient of friction, you havga lot of friction
between the materials. Concrete

On concrete has a
very high coefficient, and @ on most things LCKB

has a very low coefficient. Teflon is used on surfaces where we_don't want th/ngs to ¢ F
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The force of friction is only dependent on the coefficient of friction and the normal

force. What does not change the forcf)of friction?
Spoect + Surface Area

Does accelera‘uon effect the frictional force?
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EXAMPLES:
1. Ahockey puck has a coefficient of kinetic friction of px = .10. If the puck feels a normal force
Fn) of 5N, what is the frictional force that acts on the puck?
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Fee =‘3Nj€o.\) =105 N]

2. Suppose a 10 N force is applied to the side of a 4.0 kg block that is sitting on a table. The
block experiences a frictional force against the force that is applied.

a. Draw a force diagram for the bIo% FN
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b. Whatis the Welm 4K (q‘gm/sz)

F=ma

Fa=m9 =31 9‘”)

c. Whatis the normal force on the block (Fn)?
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—~—\ d f the coefficient of kinetic friction i what is the frictional force on the block (Ff)?
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—». Whatis tf-]e net force on the block?

E’é Fapp + Fe
== 10N+ (eay |F J

'—3 f.  Whatis the acceleration of the block from the net force?

ZFy=ma
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